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QUESTION 1

What function can nzrestore perform? 

A. Restore TEMP tables. 

B. Restore database triggers. 

C. Rename tables during the restoration. 

D. Return materialized views to their original state. 

Correct Answer: D 

 

QUESTION 2

nzbackup/nzrestore with the -user option has been replaced with which option to allow multi-level security (MLS)
information, such as categories, cohorts, and levels to be backed up/restored? 

A. -all 

B. -mls 

C. -users 

D. -globals 

Correct Answer: D 

 

QUESTION 3

Which condition will interrupt a query running on a fully operational PureData System for Analytics? 

A. One fan fails. 

B. One disk fails. 

C. Active host fails. 

D. One power supply fails. 

Correct Answer: C 

 

QUESTION 4

The primary copy of a dataslice is spread across how many disks? 

A. 1. 
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B. 2. 

C. 4. 

D. 12. 

Correct Answer: A 

 

QUESTION 5

Short Query Bias (SQB) allows for reserved resources to be used for which type of query? 

A. Queries with no joins. 

B. Queries returning only one row in the result set. 

C. SQL statements less than 255 characters in length. 

D. Queries with a runtime estimation of less than 2 seconds. 

Correct Answer: D 

 

QUESTION 6

The query history data collected DOES NOT provide insight to which of the type of performance and behavior
questions? 

A. The typical or most common types of queries. 

B. The longest and shortest running queries on the system. 

C. The queries submitted by specific users or groups of users. 

D. The rotational speed of the disk drives during query execution. 

Correct Answer: D 

 

QUESTION 7

Which will result in support for zonemaps on the LastName column? 

A. CREATE TABLE TableA (LastName VARCHAR(20)); 

B. CREATE TABLE TableA (LastName VARCHAR(20)); ALTER TABLE TableA ZONEMAP ON (LastName); 

C. CREATE TABLE TableA (LastName VARCHAR(20)) DISTRIBUTE ON (LastName); 

D. CREATE TABLE TableA (LastName VARCHAR(20)); CREATE MATERIALIZED VIEW ViewA AS SELECT * FROM
TableA ORDER BY LastName; 

Correct Answer: D 
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QUESTION 8

What is the state of the two hosts on a properly functional PureData System for Analytics Appliance? 

A. Active - Active 

B. Active - Stand by 

C. Stand by - Backup 

D. Stand by - Passive 

Correct Answer: B 

 

QUESTION 9

Which condition will NOT fail or restart a running query on a PureData System for Analytics Appliance? 

A. Disk resets or fails. 

B. Host resets or fails. 

C. S-Blade resets or fails. 

D. Snippet Processing Unit (SPU) resets or fails. 

Correct Answer: A 

 

QUESTION 10

What is the fastest join utilized by PureData System for Analytics? 

A. Hash join. 

B. Merge join. 

C. Expression join. 

D. Cross product join. 

Correct Answer: A 

 

QUESTION 11

Zone Maps provide what information about a table? 

A. The list of unique column values found within an extent. 

B. An index pointer to each row\\'s exact location in the base table. 
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C. The minimum and maximum column values found within an extent. 

D. The connection between the map and reduce stages when using MapReduce. 

Correct Answer: C 

 

QUESTION 12

Which statement is true about a simple load using external tables? 

A. The load can be configured to automatically continue to load if the S-Blade resets or fails. 

B. The load can be configured to automatically create a backup file of the table being loaded. 

C. The load can be configured to automatically create a duplicate copy of the table being loaded. 

D. The load can be configured to automatically remove duplicate rows from the table being loaded. 

Correct Answer: A 

 

QUESTION 13

When is the ToplogyImbalance event triggered? 

A. When a SAS switch has failed. 

B. When the path the path between an S-Blade and its disks has failed. 

C. When a disk enclosure\\'s voltage sensor is reading outside the nominal range. 

D. When an S-Blade has ownership of more dataslices than is optimal (usually following a disk replacement). 

Correct Answer: D 

 

QUESTION 14

What is required to troubleshoot a query? 

A. nzevents and the pg.log. 

B. nzsql and the ODBC config. 

C. nzinventory and the dbos.log. 

D. nzdumpschema and the execution plan. 

Correct Answer: D 

 

QUESTION 15
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What is the maximum number of columns you can choose as organizing keys for clustered base table? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: C 
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